2023FE BERRINIAE (G BAERFEERRTFE-BFRAR-YIAI-IRFRERKTFR) REOW HRER

[=Yiva K& il NET GROSS HC &4z K& g NET GROSS HC [[[=Yiva K& g NET GROSS HC [[[=Yiva K& i NET GROSS HC [[[=Yiva K& FiiE NET GROSS HC
1% B /% 1 :FFGC 68.0 92 24.0 61 38 & ¥ #wuEmec 73.0 73 0.0 121 & 5k 3 B5 #Eo=cCc 74.8 82 7.2 181 N & = ¥HFEFGC 76.8 90 13.2 241 & ¥} % — Eo=CC 79.8 99 19.2
2 F B 18 A #RLuERGC 68.6 77 8.4 62 & JII £ uivsEGe 73.0 79 6.0 122 50 & H Z EGA 74.8 88 13.2 182 £ # H H D EGA 76.8 96 19.2 242 )\ % & F #MUGC 80.0 116 36.0
3K & B /) BOo=CC 68.6 77 8.4 63 55 /K 2 K BB >-94kcC 73.0 79 6.0 123 — f % {F #WLEEGC 74.8 82 7.2 183 15 % JiE mo=cc 77.0 95 18.0 243 2 H BB B FY4CC 80.2 97 16.8
4 ¥ h ¥ %= MILGC  69.2 86 16.8 64 FE = B E BIEGC  73.2 96 22.8 124 B & X 1 FEECC 74.8 88 13.2 184 2 )l B #2 th HEFGC 77.0 83 6.0 244 B 3\ HALERGC 80.2 91 10.8
5% ¥ H FFEFGC 694 79 9.6 65 7 B B &*H #uGC  73.2 90 16.8 125 & 8 & B FEFGC 75.0 111 36.0 185 {k 4 K {8 /T EGA 77.0 83 6.0 245 F B 3 X EGA 80.2 97 16.8
6 F 2 IF = #FEFGC 69.6 84 14.4 66 ¥ Kk & =z FH¥CC 73.2 90 16.8 126 & & 3 X EGA 75.0 105 30.0 186 A JII & X ®o=cc 77.0 83 6.0 246 f&8 B 1E ¥ EGA 80.2 91 10.8
7 KX B R FFEFGC 69.6 90 20.4 67 A &t 3 = #MLUEEGC 73.2 90 16.8 127 B B 5 #ERXGC 75.0 81 6.0 187 & H B | FHEFGC 77.2 100 22.8 247 & A & B EGA 80.2 91 10.8
8 M B & x FY>CC 69.8 95 25.2 68 = ¥ IF LAvEEGC 73.2 72 -1.2 128 £ B8 % #i #LERGC 75.0 75 0.0 188 H L+ 8 BB EGA 77.2 94 16.8 248 1 ¥F 5 = FEECC 80.4 102 21.6
9 I O % B #WUEEGC 69.8 83 13.2 69 U A E 2 &E worrce 73.2 78 4.8 129 & £ {£ & $FFGC 75.0 87 12.0 189 i& 15 B2 F #HEFGC 77.2 100 22.8 249 B H H = wwiuxcc 80.4 96 15.6

10 %8 B #F¥ wwiorcc 69.8 77 7.2 70 F & & — EGA 73.2 96 22.8 130 T i@ X BF B®GC  75.0 87 12.0 190 tfy A H & EGA 77.2 112 34.8 250 &= M 18 % BBGC 80.4 90 9.6

11 7 & 5 EGA 70.0 106 36.0 71 B %% & #f vwioxce 73.2 78 4.8 131 5 & #% BEF EGA 75.2 92 16.8 191 & B % Z FEFGC 77.2 112 34.8 251 1, U B #2 EHGC  80.4 108 27.6

12 & B f#& — HFFGC 70.0 88 18.0 72 + H F 4 = FHEFGC 73.2 84 10.8 132 @ |4 T Eo=EcC 75.2 86 10.8 192 X & 7T % EGA 77.2 94 16.8 252 K fh = SBCC  80.4 96 15.6

13 &%Z N 1 & >-9v(rCcCc 70.0 70 0.0 73 [ A # X BEGC 73.2 102 28.8 133 @ KX B 4% BHEGC 75.2 86 10.8 193 X ¥¥ kK & 12 EGA 77.2 100 22.8 253 0 B & S ®WO=ECC 80.6 95 14.4

14 I Ix & — 8P #LERGC 70.2 87 16.8 74 — © 2 EGA 73.2 96 22.8 134 & ¥ 3 — FHECC 75.2 92 16.8 194 + A — E2 #PFFGC 77.2 94 16.8 254 & @ ¥ F #ESGC 80.6 101 20.4

15 % £ = 7 5BCC  70.6 79 8.4 75 & sk & Bl ®mRGC 73.4 95 21.6 135 t# B 3 4y #ILGC 75.2 80 4.8 195 X i A 2 S;Bcc 77.4 93 15.6 255 # |4 B = Eo=CcC 80.6 95 14.4

16 & I 5 3% BEGC 70.6 79 8.4 76 |t £ 4t F -l 73.4 95 21.6 136 28 B Bt AR BO=ECC 75.4 79 3.6 196 [ U5 B 58 EGA 77.4 105 27.6 256 31 H B #EHGC 80.6 95 14.4

17 I FE B A S8CC 70.8 72 1.2 77 & JIl ¥ 1T FESGC 73.4 89 15.6 137 /N B 35 = $ERCC 75.4 97 21.6 197 & H 3 1 FEFGC 77.6 98 20.4 257 1l HE & SBccC 80.8 112 31.2

18 B #1 EGA 71.2 94 228 78 B8 A % SBcC  73.4 77 3.6 138 & B 2§ F ®o=cCc 754 79 3.6 198 EEKEPEIE MILGC 77.6 86 8.4 258 FTEAOAF FHCC 80.8 100 19.2

19 #f MW {Z 5BCcC  71.2 76 4.8 79 ¥ H #% — BECC 73.4 77 3.6 139 % H X # FFEFGC 754 79 3.6 199 /1 JIl % & ®®GC 77.6 98 20.4 250 31 H R Eo=CcCc 80.8 88 7.2

20 39 ¥F B # suEmGC 71.2 76 4.8 80 = it BRGC 73.4 83 9.6 140 — & & T FEFGC 754 91 156 200 3 [0 i % EGA 77.6 98 20.4 260 i £ B S EGA 81.2 92 10.8

21 00 B T i mmec 71.4 87 15.6 81 K ¥ i @EKGC 73.4 77 3.6 141 & ¥F ¥ EGA 75.4 85 9.6 201 & B B Z ##ESGC 77.8 85 7.2 261 JIl T 52 T EGA 81.2 104 22.8

22 ¥ K - $WEECC 71.6 74 2.4 82 M@ H {& & #&%GC 73.4 83 9.6 142 = £ 9 &% wwircc 75.4 85 9.6 202 X B & # >-vqrCcC 77.8 85 7.2 262 [ 3 5 K EGA 81.2 104 22.8

23 & R ¥E t $EECC 71.6 86 14.4 83 5B E ¥ = EGA 73.4 89 15.6 143 & # = = B|EGC 754 79 3.6 203 15 B #5 1 EGA 77.8 91 13.2 263  F A FFEFGC 81.4 97 15.6

24 # £ = 17 %ﬁﬁ*%ec 71.8 97 25.2 84 fh B % B FU>CC 73.4 89 15.6 144 X & 8 th EGA 75.4 91 156 204 f2 B =/ b H:EHGC 77.8 85 7.2 264 £ H E HFFGC 81.6 90 8.4

25 = ¥ & — ®o=cCc 71.8 85 13.2 85 i & & Ik 3} EGA 73.4 89 15.6 145 X @ i FEFGC 75.6 102 26.4 20 % # B ¥ESGC 78.0 90 12.0 265 {F B K & #FFEHGC 81.6 90 8.4

26 72 B B ¥ETGC 71.8 85 13.2 86 + H @ 3F #HFFGC 73.6 82 8.4 146 B & & Z &CC  75.6 90 14.4 206 % IE & SBCC 78.0 90 12.0 266 /v st fE FHLCC 824 92 9.6

27 &2 & ¥ FHMBCC 71.8 79 7.2 87 &% K B — En=CC 73.6 82 8.4 147 % ¥ K &P MLEEGC 75.6 84 8.4 207 A0 # # E #FHEHGC 78.0 90 12.0 267 B B ® £ ¥FEHGC 82.4 98 15.6

28 = = — ¥iEFGC 71.8 79 7.2 88 = JIl £ & EGA 73.6 82 8.4 148 K T % 1Z EGA 75.6 96 20.4 208 # + H = EGA 78.0 90 12.0 268 HH ® 3 PR Eo=CcC 83.0 119 36.0

29 My K & {1 :FEFGC 71.8 85 13.2 80 B HE BE AFYC 73.6 76 2.4 149 B & F #F) #MLEERGC 75.6 84 8.4 209 & fE@l 1R FE EGA 78.0 96 18.0 260 = B & fi# — ®Eo=CC 83.4 105 21.6

30 F) B #MUERGC 71.8 79 7.2 90 & B # = #LEEGC 73.8 81 7.2 150 & 14 =] {Z IVI-ILGC 75.6 90 14.4 210 # | B B EGA 78.0 102 24.0 270 &k H i B EGA 84.0 102 18.0

31 B IR & & FEFGC 72.0 84 12.0 91 Il A& {& SBcc 73.8 87 13.2 151 &% B B — #FFGC 75.6 78 2.4 211 & ¥F 4 @& BIEGC  78.2 107 28.8 271 B & = ¥ EGA 84.4 106 21.6

32 %k A B F dtRCC  72.0 96 24.0 92 & H % @ ¥FEFFGC 73.8 87 13.2 152 ¥ K iR ¥FEFGC 75.6 78 2.4 212 A & 52 F4>CC 78.2 89 10.8 272 F B E 1 EGA 88.0 118 30.0

33 A = # 3-v4rCcC 72.0 72 0.0 93 = 1B th IE #:EHGC 73.8 81 7.2 153 8 A& 3 EGA 75.6 108 32.4 213 %, 1l ® E®GC  78.2 89 10.8 273 & 1 #B 5h EGA 90.0 126 36.0

34 B H# = & BoECC 72.0 84 12.0 94 %= ®F = EGA 74.0 86 12.0 154 @ A& 0 7 Z|¥EGC 75.8 89 13.2 214 & & 1E # #BRCC 78.2 95 16.8

35 i@ ¥ IF wvwkxcc 72,2 77 4.8 95 AR HIL & EDECC 74.0 86 12.0 155 T & X f¢ @wogEcc 75.8 83 7.2 215 N = HwFERGC 78.2 89 10.8

36 & ¥ 1 x #Eo=cc 72.2 83 10.8 96 ¥} K = &K #FEFGC 74.0 80 6.0 156 501  $F 7% EGA 75.8 89 13.2 216 ¥4 H = {- F¥>CC 78.2 89 10.8

37 A B — BB #Eos=cc 72,2 77 4.8 97 ® B B 1t #HEFGC 74.0 98 24.0 157 % & 2% ®BEGC 75.8 83 7.2 217 & # IF %] dt%cc  78.2 89 10.8

38 K &f X — FH>CC 72,2 89 16.8 98 H B I & EH=CC 74.2 85 10.8 158 = {F & — BB #AEFGC 75.8 83 7.2 218 # H B8 >-voRCC 78.2 83 4.8

39 &R E ANBRGC 724 82 96 99 A KX E + M S8CC 74.2 85 10.8 159 & & T $#PEFGC 75.8 89 13.2 219 & I =6 & — ¥BEFGC 78.2 101 22.8

40 B H #1 B EECC 72.4 76 3.6 100 # B PR & BEGC  74.2 103 28.8 160 & 8 P& F FH>CC 76.0 106 30.0 220 8 A = If ¥FHESGC 78.4 100 21.6 B

41 5k # M 3| >-v(kcC 72.4 82 9.6 101 X @ K& %ﬁﬁa%ec 742 85 10.8 161 T+ & B !¥ ®O=CC 76.0 94 18.0 221 & # % F SBCC  78.4 100 21.6 (FRUR—=IL]

42 F & ¥EECC 72.4 94 21.6 102 % & B B $EECC 74.2 85 10.8 162 # % 5 4T IVI-IGC 76.0 94 18.0 222 @ B = KX EGA 78.4 100 21.6

43 F B W B FHFEFGC 72.6 81 8.4 103 & JIl K & %ﬁﬁ-’r%GC 74.2 79 4.8 163 X & IF E FHFFGC 76.0 82 6.0 223 & + i K #FEECC 78.4 82 3.6 mad—A

44 1 H § 1B F9>CC 72.6 87 14.4 104 A &k M — @o=cc 74.4 96 21.6 164 2 K E B & EGA 76.0 88 12.0 224 % H 5= KX ¥FEFGC 78.4 82 3.6 N2 -3-4-5-6-7

45 E B % % @o=cCc 72.8 86 13.2 105 38 L+ 1§ @mo=Ccc 744 90 15.6 165 58 H — BB #FFHGC 76.0 88 12.0 225 ¥ JIl & 7% EGA 78.6 87 8.4 0.

46 = I &6 2 — EGA 72.8 86 13.2 106 B & £ B HFEFGC 744 90 15.6 166 HH & {8 & FHPEFGC 76.0 100 24.0 226 K & F #E#%GC 78.6 111 32.4

47 # B & — ¥FEFGC 72.8 80 7.2 107 = ¥ B KEBP ¥FFGC 74.4 84 9.6 167 & 8 % BB EGA 76.2 93 16.8 227 % B/ B A& SBACC 78.8 98 19.2 AlF1-X

48 £ 7 K = FMECC 72.8 86 13.2 108 8% o % MLEKRGC 744 84 9.6 168 K T M — Z¥EGC 76.2 93 16.8 228 X B 4 EGA 79.0 103 24.0 N2-4:5-7-8-9

49 || & == BH ®o=ECC 72.8 74 1.2 109 E ¥ B & EGA 744 78 3.6 169 F§ H | %1 >-Y+(RCC 76.2 87 10.8 229 % 2% Ht Al S8CC 79.0 97 18.0 0.

50 — # = § FY>CC 72.8 80 7.2 110 3 M 15 EGA 74.6 89 14.4 170 % £ = 7§ EGA 76.4 98 21.6 230 &t £ & EGA 79.0 85 6.0 X

51 &5 @ # — &o=cc 72.8 86 13.2 111 % F B HPEFGC 74.6 95 20.4 171 B ¥ 1@ X EGA 76.4 92 15.6 231 5 K ¥ E EGA 79.0 97 18.0 AHE1—-X

52 3F ®E ¥ FYLCC 72.8 92 19.2 112 8 H 8 ®o=cC 74.6 89 14.4 172 K & 2 52 EGA 76.4 98 21.6 232 10 M IF 52 ¥EHGC 79.2 96 16.8 N.3-4-5-7-8-9

53 A * & /t SsCC 72.8 92 19.2 113 Ml F % 49 = F9>CC 74.6 83 8.4 173 ¥ £ & & EGA 76.4 92 156 233 # & 0 B EGA 79.2 102 22.8 0.

54 # 11 B R EGA 72.8 92 19.2 114 & BF {8 #% FY¥>CC 74.6 95 20.4 174 & 8 K& # #EECC 76.4 80 3.6 234 ¥ ¥F ¥ = FHICC  79.2 114 34.8

55 1 &K K % F¥>CC 72.8 80 7.2 115 B IR 5 17 HFFGC 74.6 89 144 175 &5 @ F 4 :HFEFGC 76.4 86 9.6 235 5 & F 1 #EFGC 79.2 90 10.8 HAH : S #M5&381H (XK)

56 /N ®B & SHBCC  73.0 79 6.0 116 [ 18 2 ®o=CcC 74.8 94 19.2 176 X A B X %ﬁﬁf%ec 76.6 103 26.4 236 + JIl B A Eo=CC 79.4 101 21.6 BFr: BOEBHh>MN)-035T

57 & L+ 1 FH FHEFGC 73.0 97 24.0 117 B 8 B 3% — >-YM1RCcC 74.8 94 19.2 177 % B ©E #t SAC 76.6 91 14.4 237 F I 9T EGA 79.4 95 15.6

58 £ nl &% Bl #o=cc 73.0 85 12.0 118 1 B M k #EKXGC 74.8 88 13.2 178 & £ #1 *’AU.IIIK?EGC 76.6 91 14.4 238 K ¥ A {8 1T EGA 79.6 94 14.4 FE: B EE JIIL I WS

59 I % '|£ E FEFGC 73.0 73 0.0 119 )k £ B — #HEECC 74.8 88 13.2 179 A, WL {Z 2= EGA 76.6 85 8.4 239 5A] ¥ & EP BEEGC 79.6 88 8.4

60 3 JIl & % SBCcCc 73.0 85 12.0 120 8 & % B FY>CC 74.8 94 19.2 180 A # # = ®oH=CC 76.8 90 13.2 240 T B 1 1 Bo=CcC 79.6 94 14.4 IR EER S2HEE




